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1.2.3 Einige Rechenregeln

Sinus Kosinus

sin 2⋅n   = sin (α) cos2⋅n = cos(α)

sin − = −sin cos(−α) = cos(α)

sin 2 ±  = cos cos2 ±  = ∓sin(α)

sin  ±   = ∓sin cos (π ± α ) = −cos(α)

sin  3
2

±  = −cos cos  3
2

±  = ±sin(α)

sin 2 −  = −sin cos2 −  = cos(α)

Sinus und Kosinus

sin 
2
cos

2
= 1 (Pythagoras am Einheitskreis)

sin ± = sincos ± cos sin   (Additionstheoreme)

Wichtige Winkel

sin 0  = sin 0°  = 0 = cos 90 °  = cos 2  =
1
2
0

sin 6  = sin 30°  =
1
2

= cos 60 °  = cos 3  =
1
2
1

sin 4  = sin 45°  =
1
2

2 = cos 45°  = cos 4  =
1
2
2

sin 3  = sin 60°  =
1
2

3 = cos 30°  = cos6  =
1
2
3

sin 2  = sin 90°  = 1 = cos 0 °  = cos 0  =
1
2
4
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